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QUESTION 1

You are modifying an existing Web page that needs to validate as HTML5 code. To create a rectangular hot-spot in an
image map that links to www.xyz.com, which code would you nest inside the container tags? 

A.  

B.  

C.  

D.  

Correct Answer: C 

 

QUESTION 2

Marsha\\'s boss directed her to create a mobile version of the company\\'s Web site. To ensure her mobile site is
optimized, Marsha eliminates banners and advertisements. What other recommendations should Marsha follow? 

A. Use images instead of video on the Web site. 

B. Use white space to give the site an uncluttered look. 

C. Use Flash content to replace lengthy text descriptions. 

D. Create several Web sites, each tailored to a specific mobile platform. 

Correct Answer: B 

 

QUESTION 3

When establishing a mobile presence, which of the following offers mobile-friendly content to the widest possible
audience? 

A. Traditional Web sites 

B. Mobile Web sites 

C. Mobile apps 

D. RSS feeds 

Correct Answer: B 

 

QUESTION 4

You are distributing a large video game file using BitTorrent. First, you upload the initial file and make it available via a
central server called a tracker. Other users can then connect to the tracker and download the file. Each user who 
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downloads the file makes it available to other users to download. The use of BitTorrent significantly reduces the original
provider\\'s hardware and bandwidth resource costs. 

BitTorrent is an example of what type of network? 

A. Centralized network 

B. Client-server network 

C. Peer-to-peer (P2P) network 

D. Virtual private network (VPN) 

Correct Answer: C 

 

QUESTION 5

What is the distinguishing difference between a LAN and WAN? 

A. A LAN is a group of networked computers within a confined geographic area. 

B. A WAN is a group of networked computers within a confined geographic area. 

C. A LAN typically provides slower network connection speeds than a WAN. 

D. A WAN is commonly used for intra-office communication. 

Correct Answer: A 

 

QUESTION 6

Proprietary information for your company\\'s online business was released to a competitor. Which of the following
preventative measures should your company take to ensure that its proprietary information is protected in the future? 

A. Restrict Internet access. 

B. Uninstall any e-mail clients. 

C. Monitor employees\\' messages. 

D. Destroy all proprietary information. 

Correct Answer: C 

 

QUESTION 7

Which of the following computer system maintenance tasks can help improve file access performance? 

A. Use a SCSI drive instead of a SATA drive 

B. Use a SATA drive instead of an EIDE drive 
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C. Defragment the drive using the following command: fdisk -d -w c:/ 

D. Defragment the drive using the following command: defrag c: -w 

Correct Answer: D 

 

QUESTION 8

You are a small-business owner and would like to encourage employees to bring their own devices (BYOD) to work.
Which of the following can help reduce the security risks associated with a BYOD implementation? 

A. Expense accounts 

B. Acceptable use policy 

C. End user license agreement 

D. In-house device maintenance 

Correct Answer: B 

 

QUESTION 9

To ensure the maximum cross-browser compatibility and consistent functionality, Web developers should: 

A. test their pages in the most used release of each major Web browser. 

B. test their pages in the most common browsers, including the most used and latest releases. 

C. test their pages in only standards-compliant browsers, including the most used and latest releases. 

D. test their pages in the Web browser most commonly used by the site audience, including the most used and latest
release. 

Correct Answer: B 

 

QUESTION 10

Roberto\\'s company is releasing updates to a specific product. He needs to educate the company\\'s sales managers,
who are located in various international locations, about the new product updates. Which of the following methods would
be the most economical and efficient solution for Roberto to discuss the required information with the sales managers
synchronously? 

A. Send the product update blueprints via e-mail to each of the sales managers and ask them to contact him with any
questions. 

B. Schedule an in-person sales meeting with them at the company headquarters so that the updates can be
demonstrated and any questions answered with the entire group present. 

C. Schedule a Webinar with the sales managers so that the updates can be demonstrated and any questions answered
with the entire group. 

1D0-610 VCE Dumps | 1D0-610 Practice Test | 1D0-610 Exam Questions                                4 / 6

https://www.certbus.com/1d0-610.html
https://www.certbus.com/1d0-610.html
https://www.certbus.com/1d0-610.html


https://www.certbus.com/1d0-610.html
2024 Latest certbus 1D0-610 PDF and VCE dumps Download

D. Post the product update blueprints on the company\\'s Web site and call each sales manager personally to discuss
their individual questions or concerns offline. 

Correct Answer: C 

 

QUESTION 11

Selena has run out of memory on her phone\\'s SD card. She has decided to store the files she has accumulated on a
third-party cloud service provider\\'s drives. Which of the following is a typical issue that she may encounter? 

A. The files become corrupted due to an attack from a hacker botnet. 

B. The files become unavailable whenever Internet connectivity is lost. 

C. The files become unavailable because they are being shared with other users. 

D. The files become corrupted because the provider uses a proprietary compression algorithm during transit. 

Correct Answer: B 

 

QUESTION 12

Marion is formatting a simple Web page. She has been asked to create headings before the first and third paragraphs.
To accomplish this most efficiently, which type of HTML elements should Marion use? 

A. Text-level elements 

B. Block quote elements 

C. Fixed-width font elements 

D. Paragraph-level elements 

Correct Answer: D 

 

QUESTION 13

To restore a backup file on a Windows-based computer, you: 

A. Use the Disk Management utility in the Microsoft Management Console (MMC) 

B. Use the Backup And Restore utility in the Control Panel. 

C. Use Device Manager in the Control Panel. 

D. Extract the backed-up file. 

Correct Answer: B 
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QUESTION 14

Web developers typically include comments in their code for which reason? 

A. To insert server-side programs, such as JavaScript 

B. To communicate performance issues to site visitors 

C. To explain the purpose of code sections to other developers 

D. To declare which version of HTML each part of the code is using 

Correct Answer: C 

 

QUESTION 15

Sampson has used HTML5 to create a Web page that contains image-based navigation buttons. He would like to add
text-based navigation to help ensure accessibility. Which of the following HTML5 elements should he use? 

A.  

B.  

C.  

D.  

Correct Answer: B 
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